
4
8

5
0

1
8

 - A
n

g
le

 sto
p

 W
A

 - H
L

Firefox D
eveloper E

dition
https://ekat.festool.de/E

K
A

T
/jsp/m

ain.jsp?select=
currentIm

ageA
ndPartli...

1 of 2
12/4/2020, 4:13 P

M



Pos Part No. Description Quantity Price each
Excl VAT

Price
incl VAT

Currency

31 200461 Stop 1 $31.21 USD

32 228566 Square nut M6 2 $0.91 USD

33 200450 Swiveling segment 1 $16.62 USD

34 436195 Rotary knob 2 $0.95 USD

35 772405 Threaded pin M6 x 10 1 $0.91 USD

36 438320 Rotary knob M6 1 $6.63 USD

37 200463 Indicator 1 $7.90 USD

38 200762 Spring disc 1 $0.91 USD

39 203806 Raised-head screw M4 x 8 1 $0.91 USD

40 200462 Support 1 $69.91 USD

41 200390 Sleeve 2 $2.17 USD

42 402875 Cheese head screw M6 x 20 1 $0.91 USD

43 715156 Slip piece 1 $7.33 USD

Firefox Developer Edition https://ekat.festool.de/EKAT/jsp/main.jsp?select=currentImageAndPartli...

2 of 2 12/4/2020, 4:13 PM


